2REBADIEEFHQ e LR

1) =2, z=3 2 z=-1, z=—4 3) z=-—4, z=2

4) z=-2, =5
1) (z—2)z—3)=0
z—2=0 F/zl& z-3=0
£-T z=2, z=3
) 2?45z +4=0
VR APSE G R
(x+1)x+4)=0
r+1=0 F/&iZ z+4=0
£oT  z=-1, z=—4
3) z%+22—8=0
il e RO RT DL
(r+4)x—2)=0
z4+4=0 Fki& z-2=0
Lo T r=—4, r=2
(4) 22—32—-10=0
il e BB ET D L
(x+2)(z—5)=0
z4+2=0 F&i& z-5=0
Lo T r=—2, r=5

1) z=-3, z2=7 (2) z=4, z=9 (3) z=-8, z=5

4) =0, x:—% 5) ng 6 =1, z=11
1) ri—4x—21=0
Eil=RBOETH L
(x+3)xz—7)=0

z+3=0 F7/ZI& z-7=0
£oT x=-3, z=7
2) z2—13z+36=0
il e BB ET D L
(z—4)(z—9)=0

x —

£oT

3)

@)

®)

©6)

4=0 F7~lF z—-9=0
r=4, =9

22432z —40=0

EDeRBOET D L

(r+8)x—5)=0

x+8=0 F/&IEX z2-5=0

o T

z=—-8, =5

322422=0

R URAESE Gy R

xr=

o T

2(3z+2)=0
0 F/H~IE 3x+2=0
2

z=0, zr=—+

3

422 —1224+9=0
ElRRBOET2 L

o T

(22 —3)2=0
2z —3=0
3

r=—

2

— 2224242 —22=0

0 %

—2Thdk

z2—12z+11=0
(x—1)x—11)=0

z—1=0 F7ZlF 2-11=0

o T

z=1, z=11



